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TNPSC GROUP I MAIN – 2023 

 

PROFIT AND LOSS TEST 
 

gphpT – m 
SECTION – A 

 
Fwpg;G:  

i. xt;nthU tpdhtpw;Fk; 150 nrhw;fSf;F kpfhky; tpilaspf;fTk;.  
Answer not exceeding 150 words each 

ii. xt;nthU tpdhtpw;Fk; gj;J kjpg;ngz;fs;. 
Each question carries ten marks. 

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F tpdhf;fSf;F 
kl;Lk; tpilaspf;fTk;  
Answer any four questions out of five questions. 

(4 × 10 = 40) 
 

1. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
a. By selling a speaker for ₹ 768, a man loses 20%. In order to gain 20% how much should 

he sell the speaker?              (5m)  

xU xypngUf;fpia ₹ 768f;F tpw;gjd; %yk;> xU egUf;F 20% el;lk; Vw;gLfpwJ. 20% 
yhgk; fpilf;f> xypngUf;fpia mtu; vd;d tpiyf;F tpw;f Ntz;Lk;. 

 

b. A refrigerator is purchased for ₹ 14,355, including sales tax. If the actual cost price of 

the refrigerator is ₹ 13,050, find the rate of sales tax.        (5m) 

tpw;gid tup cl;gl ₹ 14>355 &gha;f;F Fspu;rhjdg; ngl;b thq;fg;gLfpwJ. Fspu;rhjdg; 
ngl;bapd; cz;ikahd tpiy ₹ 13>050 vdpy;> tpw;gid tup tPjj;ij fhz;f. 

 
2. Answer the following Questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 

a. BY selling an article for ₹ 1636.25, a dealer gains ₹ 96.25. Find his gain percent.   (5m) 

xU nghUis ₹ 1636.25f;F tpw;gjd; %yk;> xU tpahghup ₹ 96.25 ,yhgk; ngWfpwhu;. 
mtuJ ,yhg  rjtPjj;ijf; fhz;f. 

   
b. by selling a book for Rs 258, a bookseller gains 20%. For how much should he sell it to 

gain 30%?              (5m)   
xU Gj;jfj;ij 258 &gha;f;F tpw;gjd; %yk;> Gj;jf tpw;gidahsu; 20% ,yhgk; 
ngWfpwhu;. 30% ,yhgk;  ngw mij vt;tsT tpiyf;F tpw;f Ntz;Lk;? 
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3. Answer the following Questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 

a. The cost of an article was ₹ 20000 and ₹ 1400 were spent on its repairs. If it is sold for a 
profit of 20 %, find the selling price of the article.         (5m) 

xU nghUspd; tpiy ₹ 20000 kw;Wk; mjid gOJghu;f;f ₹ 1400 nrytplg;gl;lJ. 20% 
yhgj;jpw;F tpw;fg;gl;lhy;> nghUspd; tpw;gid tpiyiaf; fz;lwpaTk;. 

 

b. Leela bought 25 dozen eggs at the rate of ₹ 9.60 per dozen. 30 eggs were broken in the 
transaction and she sold the remaining eggs at one rupee each. Find her gain or loss 
percentage.               (5m) 

yPyh 25 lrd; Kl;ilfis xU lrDf;F ₹ 9.60 tPjk; thq;fpdhu;. mjpy; 30 Kl;ilfs; 
cile;jJ> kPjKs;s Kl;ilfis jyh xU &gha;f;F tpw;whu; vdpy;> mtUila yhgk; 
my;yJ el;l rjtPjj;ijf; fhz;f. 

 
4. Answer the following Questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 

a. A Painting is marked for ₹ 4800. The shopkeeper offers 10% discount on it. If Tax is 
received 8% from the customer, find the amount paid by the customer to purchase the 
Painting.                       (5m) 

xU Xtpak; ₹ 4800 vd Fwpf;fg;gl;Ls;sJ. filf;fhuu; mjw;F 10% js;Sgb 
mspf;fpwhu;. thbf;ifahsuplkpUe;J 8% tup ngwg;gl;lhy;> Xtpaj;ij thq;f 
thbf;ifahsu; nrYj;jpa njhifiaf; fhz;f. 

 
b. A shopkeeper allows a discount of 10% to his customers and still gains 20%. Find the 

marked price of an article which costs ₹ 450 to the shopkeeper.                  (5m) 
xU filf;fhuu; jdJ thbf;ifahsu;fSf;F 10% js;Sgb je;Jk; 20% ,yhgk; 

ngWfpwhu;. xU nghUspd; cz;ik tpiy ₹ 450 vdpy; mjd; Fwpj;j tpiyia fhz;f. 
 

5. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
 

a. Guava are bought at 5 for ₹10 and sold at 6 for ₹15. Find profit or loss as percent.  (5m)  

nfha;ah ₹ 10f;F 5 thq;fg;gl;L ₹ 15 f;F 6 vd tpw;fg;gLfpwJ. ,yhg my;yJ e~;l 
rjtPjk; fhz;f. 

 

b. The cost price of 11 pens is equal to the selling price of 10 pens. Find the loss or gain 
percent.                     (5m) 
11 Ngdhf;fspd; mlf;f tpiy 10 Ngdhf;fspd; tpw;gid tpiyf;F rkk; vdpy;>  el;l  
my;yJ ,yhg  rjtPjj;ijf; fz;lwpaTk;. 
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gphpT – M 

SECTION – B 
Fwpg;G: 

i. xt;nthU tpdhtpw;Fk; 250 nrhw;fSf;F kpfhky; tpilaspf;fTk;. 
Answer not exceeding 250 words each. 

ii. xt;nthU tpdhtpw;Fk; gjpide;J kjpg;ngz;fs; 
Each question carries fifteen marks. 

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F tpdhf;fSf;F 
kl;Lk; tpilaspf;fTk;. 
Answer any four questions out of five questions. 

 
(4 × 15 = 60) 

6. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
a. On selling a chair at 7% loss and a table at 17% gain, a man gains Rs. 296. If he sells the 

chair at 7% gain and the table at 12% gain, then he gains Rs 400. The actual Price of the 
table is.                              (7.5m) 
xU ehw;fhypia 7% e~;lj;jpYk;> xU Nki[ia 17% ,yhgj;jpYk;> tpw;gjdhy; 
xUtUf;F & 296 ,yhgkhf fpilf;fpwJ. mNj ehw;fhypia 7% ,yhgj;jpYk; 
Nki[ia 12% ,yhgj;jpYk; tpw;why; mtUf;F & 400 ,yhgkhf fpilf;fpwJ. vdpy; 
Nki[apd; cz;ik tpiy vt;tsT?  

 

b. A trader buys and article for Rs. 1200 and marks it 30% above the C.P. He then sells it 
after allowing a discount of 20%. Find the S.P. and Profit percent.               (7.5m)  
xU tpw;gidahsh; xU nghUis & 1200 f;F thq;fp mjid mjd; 
thq;fpatpiyapypUe;J 30% cah;j;Jfpwhh; cah;j;jpa gpd; 20% js;Sgb mspf;fpwhh; 
vdpy;> mjd; tpw;wtpiy kw;Wk; ,yhg rjtPjk; vd;d?  

 
7. Answer the following Questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
a. The cost price of an article is ₹ 1600, which is 20% below the marked price. If the article 

is sold at a discount of 16%, find:           (9m) 
 (i) the marked price 
 (ii) the selling price 
 (iii) profit percentage 

 xU nghUspd; mlf;f tpiy ₹ 1600> ,J Fwpj;j tpiyia tpl 20% FiwT. nghUs; 
16% js;Sgbapy; tpw;fg;gl;lhy;> 
i. Fwpj;j tpiy 

ii. tpw;wtpiy  
iii. ,yhg rjtPjk; fhz;f 

 

b. Sara baked cakes for the school festival. The cost of one cake was ₹ 55. She sold 25 cakes 

and made a profit of ₹11 on each cake. Find the selling price of the cakes and the profit 
percent.               (6m) 

xU gs;spapd; tpohtpw;fhfr; rhuh> Nff; nra;jhs;. xU Nff;fpd; mlf;ftpiy ì 55 
MFk;. mts; xt;nthU Nff;ifAk; ì  11 ,yhgj;jpw;F tpw;fpwhs;. 25 Nff;Ffis 
tpw;wpUe;jhy; tpw;gid tpiyiaAk; ,yhg rjtPjj;ijAk; fhz;f.  
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8. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
a. A dealer buys dry fruit at the rate of Rs.100, Rs.80, and Rs.60 per kg. He bought them in 

the ratio 12 : 15 : 20 by weight. He in total gets 20% profit by selling the first two and at 
last he finds he has no gain no loss in selling the whole quantity which he had what 
was the percentage loss he suffered for the third quantity?                 (8m) 

xU tpahghhp cyh;e;j goq;fis xU fpNyh KiwNa & 100, & 80 kw;Wk; & 60 vd 
thq;fpdhh;. mjd; vilfspd; tpfpjk; KiwNa 12 : 15 : 20 MFk;. Kjy; ,U goq;fis 
tpw;gjd; %yk; mtUf;F 20% ,yhgKk;> filrpahf nkhj;j goq;fis tpw;gjd; %yk; 
mtUf;F ve;jnthU ,yhgKk; kw;Wk; el;lKk; ,y;iy vdpy; %d;whtJ goj;ij 
tpw;gjd; %yk; mth; mile;jpUf;Fk; e~;l rjtPjk; vt;tsT?  
 

b. Deepa purchased 15 shirts at the rate of ` 1,200 each and sold them at a profit of 5%. If 
the customer has to pay sales tax at the rate of 4%, how much will one shirt cost to the 
customer?                   (7m) 

jPgh 15 rl;ilfis jyh 1>200 &gha; tPjk; thq;fp 5% yhgj;jpy; tpw;whu;. thbf;ifahsu; 
4% tPjj;jpy;  tpw;gid tup nrYj;j Ntz;Lk; vd;why;> xU rl;ilf;F thbf;ifahsu; 
nrYj;jNtz;ba njhifia fhz;f. 

 

9. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
a. A grocer purchased 200 kg of rice at Rs.25 per kg. He sold 80 kg of it at a gain of 10% 

and 40 kg at a loss of 4%. At what rate per kg should he sell the remainder to gain 8% 
on his total investment?               (7.5m) 
xU kspiff; filf;fhuu; 200 fpNyh muprpia fpNyh &.25f;F thq;fpdhu;. mjpy; 80 
fpNyhit 10% ,yhgj;jpYk;> 40 fpNyhit 4% el;lj;jpYk; tpw;whu;. mtu; jdJ nkhj;j 
KjyPl;by; 8% ,yhgk; ngw kPjpia xU fpNyhtpw;F ve;j tpiyapy; tpw;f Ntz;Lk;? 

 

b. Coffee costing Rs 250 per kg was mixed with chicory costing Rs 75 per kg in the ratio 5 
: 2 for a certain blend. If the mixture was sold at Rs 230 per kg, find the gain or loss per 
cent.                            (7.5 m) 
xU fpNyh &.250 tpiyAs;s fhgp> xU Fwpg;gpl;l fyitf;F 5:2 vd;w tpfpjj;jpy; xU 
fpNyh &.75 tpiyAs;s rpf;fupAld; fyf;fg;gl;lJ. fyit fpNyh &.230f;F 
tpw;fg;gl;bUe;jhy;> ,yhgk; my;yJ el;l rjtPjj;ij fz;lwpaTk;. 

 

10. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

a. Mangoes are bought at 20 for ₹ 60. If they are sold at a profit of 
1

33
3

percent, find 

selling price of each mango.                                                                                               (5m) 

20 khk;goq;fs; 60 &gha;f;F thq;fg;gLfpd;wd. 
1

33
3
 rjtPjk; yhgj;jpy; tpw;fg;gl;lhy;> 

xt;nthU khk;goj;jpd; tpw;gid tpiyiaf; fhz;f. 
 

b. If the profit earned on selling an article for ₹810 is the same as loss on selling it for 

₹530, then find the cost price of the article.                                                                      (5m) 

xU nghUis ₹810f;F tpw;why; fpilf;Fk; yhgk;> ₹530f;F tpw;why; fpilf;Fk; 
el;lj;jpw;F rkk; vd;why;> me;jg; nghUspd; mlf;f tpiyiaf; fhz;f. 

 
c. Find the single discount equivalent to two successive discounts 25% and 8%.           (5m) 

25% kw;Wk; 8% vd;w mstpy; njhlh; js;Sgbf;F ,izahd xw;iwj; js;Sgbiaf; 
fz;Lgpbf;fTk; 


